

196.	S	$2\frac{-1}{2}^{\frac{1}{2}}$	L	$44\frac{-4}{-9}^{\frac{4}{4}}$	L	2 :	$4\frac{4}{4}^{\frac{4}{4}}$
198	==	$2\frac{-2}{-3}^{\frac{1}{1}}$	==	$44\frac{-9}{-9}^{\frac{1}{1}}$	==	2 :	$4\frac{-4}{-9}^{\frac{1}{1}}$
200	==	$2\frac{-1}{-3}^{\frac{1}{1}}$	==	44	==	2 :	4.
202	==	$2\frac{1}{10}^{\frac{1}{1}}$	==	$43\frac{8}{10}^{\frac{1}{1}}$	==	2 :	$3\frac{5}{10}^{\frac{1}{1}}$
204	==	$2\frac{5}{11}^{\frac{1}{1}}$	==	$43\frac{5}{11}^{\frac{1}{1}}$	==	2 :	$3\frac{5}{11}^{\frac{1}{1}}$
206	==	$2\frac{1}{10}^{\frac{1}{4}}$	==	$42\frac{7}{10}^{\frac{1}{4}}$	==	2 :	$2\frac{1}{10}^{\frac{1}{4}}$
208	==	$2\frac{-2}{-3}^{\frac{2}{6}}$	==	$42\frac{1}{4}^{\frac{1}{4}}$	==	2 :	$2\frac{-4}{-3}^{\frac{1}{4}}$
210	==	$2\frac{-2}{-3}^{\frac{1}{1}}$	==	$41\frac{1}{3}^{\frac{1}{3}}$	==	2 :	$1\frac{1}{3}^{\frac{1}{3}}$
212	==	$2\frac{1}{5}^{\frac{1}{1}}$	==	$41\frac{2}{5}^{\frac{1}{5}}$	==	2 :	$1\frac{2}{5}^{\frac{1}{5}}$
214	==	$2\frac{1}{10}^{\frac{6}{7}}$	==	$41\frac{1}{10}^{\frac{1}{7}}$	==	2 :	$1\frac{1}{10}^{\frac{1}{7}}$
216	==	$2\frac{-3}{-4}^{\frac{1}{1}}$	==	$40\frac{3}{4}^{\frac{1}{4}}$	==	2 :	$0\frac{3}{4}^{\frac{1}{4}}$
218	==	$2\frac{1}{2}^{\frac{2}{2}}$	==	$40\frac{1}{2}^{\frac{6}{6}}$	==	2 :	$0\frac{1}{2}^{\frac{1}{2}}$
220	==	2.	==	40	==	2 :	$0\frac{1}{2}^{\frac{1}{2}}$
222	==	$1\frac{1}{10}^{\frac{1}{2}}$	==	$39\frac{1}{11}^{\frac{1}{11}}$	==	1 :	$19\frac{-2}{11}^{\frac{1}{11}}$
224	==	$1\frac{2}{11}^{\frac{1}{11}}$	==	$39\frac{-2}{-11}^{\frac{1}{11}}$	==	1 :	$19\frac{2}{11}^{\frac{1}{11}}$
226	==	$1\frac{1}{10}^{\frac{1}{1}}$	==	$38\frac{1}{10}^{\frac{6}{6}}$	==	1 :	$18\frac{1}{10}^{\frac{6}{6}}$
228	==	$1\frac{2}{3}^{\frac{1}{1}}$	==	$38\frac{3}{4}^{\frac{1}{4}}$	==	1 :	$18\frac{3}{4}^{\frac{1}{4}}$
230	==	$1\frac{3}{4}^{\frac{1}{1}}$	==	$38\frac{3}{4}^{\frac{6}{4}}$	==	1 :	$18\frac{3}{4}^{\frac{6}{4}}$
232	==	$1\frac{3}{9}^{\frac{2}{6}}$	==	$37\frac{2}{3}^{\frac{2}{3}}$	==	1 :	$17\frac{2}{3}^{\frac{2}{3}}$
234	==	$1\frac{1}{10}^{\frac{1}{3}}$	==	$37\frac{1}{11}^{\frac{1}{11}}$	==	1 :	$17\frac{1}{11}^{\frac{1}{11}}$
236	==	$1\frac{5}{9}^{\frac{1}{1}}$	==	$37\frac{5}{9}^{\frac{1}{9}}$	==	1 :	$17\frac{5}{9}^{\frac{1}{9}}$
238	==	$1\frac{1}{11}^{\frac{1}{9}}$	==	$36\frac{1}{11}^{\frac{1}{6}}$	==	1 :	$16\frac{1}{11}^{\frac{1}{6}}$
240	==	$1\frac{-1}{-6}^{\frac{1}{1}}$	==	$36\frac{-1}{-6}^{\frac{1}{1}}$	==	1 :	$16\frac{-1}{-6}^{\frac{1}{1}}$
242	==	$1\frac{2}{12}^{\frac{2}{2}}$	==	$36\frac{2}{4}^{\frac{1}{1}}$	==	1 :	$16\frac{2}{4}^{\frac{1}{1}}$
244	==	$1\frac{4}{9}^{\frac{2}{3}}$	==	$36\frac{4}{6}^{\frac{1}{1}}$	==	1 :	$16\frac{4}{6}^{\frac{1}{1}}$
246	==	$1\frac{2}{11}^{\frac{2}{7}}$	==	$35\frac{2}{11}^{\frac{1}{3}}$	==	1 :	$15\frac{2}{11}^{\frac{1}{3}}$
248	==	$1\frac{2}{7}^{\frac{2}{7}}$	==	$35\frac{1}{7}^{\frac{1}{3}}$	==	1 :	$15\frac{1}{7}^{\frac{1}{3}}$
250	==	$1\frac{1}{4}^{\frac{1}{2}}$	==	$35\frac{-1}{-4}^{\frac{1}{1}}$	==	1 :	$15\frac{-1}{-4}^{\frac{1}{1}}$
252	==	$1\frac{4}{9}^{\frac{2}{2}}$	==	$34\frac{-5}{-9}^{\frac{5}{9}}$	==	1 :	$14\frac{5}{9}^{\frac{5}{9}}$
254	==	$1\frac{-1}{-3}^{\frac{1}{3}}$	==	$34\frac{1}{3}^{\frac{8}{3}}$	==	1 :	$14\frac{1}{3}^{\frac{8}{3}}$
256	==	$1\frac{-2}{-3}^{\frac{1}{3}}$	==	$34\frac{-2}{-3}^{\frac{1}{3}}$	==	1 :	$14\frac{-2}{-3}^{\frac{1}{3}}$
258	==	$1\frac{-1}{-3}^{\frac{1}{2}}$	==	$34\frac{1}{6}^{\frac{1}{4}}$	==	1 :	$14\frac{1}{6}^{\frac{1}{4}}$
260	==	$1\frac{-1}{-3}^{\frac{1}{2}}$	==	$33\frac{1}{3}^{\frac{1}{3}}$	==	1 :	$13\frac{1}{3}^{\frac{1}{3}}$
262	==	$1\frac{1}{11}^{\frac{2}{7}}$	==	$33\frac{1}{11}^{\frac{1}{1}}$	==	1 :	$13\frac{1}{11}^{\frac{1}{1}}$